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1. State which of the following are scalars and which are vectors?

Give reasons. 

Watch Video Solution

Mass

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_deSjPUT4idKU


2. State which of the following are scalars and which are vectors?

Give reasons. 

Watch Video Solution

Weight

3. State which of the following are scalars and which are vectors?

Give reasons. 

Watch Video Solution

Momentum

4. State which of the following are scalars and which are vectors?

Give reasons. 

Watch Video Solution

Temperature

https://dl.doubtnut.com/l/_zGgv1Bl75hy8
https://dl.doubtnut.com/l/_iNi53Dp2SFHC
https://dl.doubtnut.com/l/_xRGTcUtOR0h9


5. State which of the following are scalars and which are vectors?

Give reasons. 

Force

Watch Video Solution

6. State which of the following are scalars and which are vectors?

Give reasons. 

Watch Video Solution

Density

7. Represent graphically a force 40 N in a direction  north of

east.

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_xRGTcUtOR0h9
https://dl.doubtnut.com/l/_zTN2OZzG04N6
https://dl.doubtnut.com/l/_10n7b2I3WFSW
https://dl.doubtnut.com/l/_n8Dk8xbsi5lF


8. Represent graphically a force of 30 N in a direction  east of

north.

Watch Video Solution

49∘

9. When is the sum of two non zero vectors is zero ?

Watch Video Solution

10. The position vectors of two points A and B are  and 

 respectively. Find the vector 

Watch Video Solution

3
→
a + 2

→
b

2
→
a −

→
b

−−→
AB

https://dl.doubtnut.com/l/_n8Dk8xbsi5lF
https://dl.doubtnut.com/l/_yE0uNrgZfJ3n
https://dl.doubtnut.com/l/_6VPRHckg89ii
https://dl.doubtnut.com/l/_pvPLwUk8bbHx


11. Given  and , find the

magnitude of 

Watch Video Solution

→
a = î − ĵ + k̂

→
b = 2 î − 4ĵ − 3k̂

→
a

12. Given  and , find the

magnitude of 

View Text Solution

→
a = î − ĵ + k̂

→
b = 2 î − 4ĵ − 3k̂

→
b

13. Given  and , find the

magnitude of 

View Text Solution

→
a = î − ĵ + k̂

→
b = 2 î − 4ĵ − 3k̂

→
a +

→
b

https://dl.doubtnut.com/l/_4JnyvDdFieZp
https://dl.doubtnut.com/l/_Wvq6lECKYAOS
https://dl.doubtnut.com/l/_Q48jNl7LAKYS


14. Given  and , find the

magnitude of 

View Text Solution

→
a = î − ĵ + k̂

→
b = 2 î − 4ĵ − 3k̂

→
a −

→
b

15. Find the position vector of a point which divides the join of two

points whose position vectors are given by  and  in the ratio

1:3 internally.

View Text Solution

→
a

→
b

16. Find the position vector of mid point of the line segment AB, if

the position vectors of A and B are respectively,  and 

.

View Text Solution

→
x + 3

→
y

3
→
x −

→
y

https://dl.doubtnut.com/l/_iA4GFfVbZuw5
https://dl.doubtnut.com/l/_AX6h4jzFyFNc
https://dl.doubtnut.com/l/_KA9pbJ74LvWF


17. Find the unit vector perpendicular to each of the vectors

 and .

Watch Video Solution

→
a = 3 î + 2ĵ − 3k̂

→
b = î + ĵ − k̂

18. Find the area of the triangle having point A(1,1,1)B(1,2,3) and

C(2,3,1) as its vertices.

Watch Video Solution

19. Find the area of the parallelogram having point A(5,-1,1),

B(-1,-3,4) C(1,-6,10) and D(7,-4,7) as its vertices.

Watch Video Solution

https://dl.doubtnut.com/l/_dlPIfcxyyU4h
https://dl.doubtnut.com/l/_XSbKUo2dOD8I
https://dl.doubtnut.com/l/_E5IkYMYdLLDh


20. Let, P be a point in space such that  and  makes

angles with positive direction of x, y and z axes

respectively. Find co-ordinates of point. -

Watch Video Solution

∣
∣
∣

−−→
OP

∣
∣
∣

= √3
−−→
OP

, ,
π

3

π

4

π

3

21. If P(2,-1,4) is a point in the space, find the direction cosines of

vector 

Watch Video Solution

−−→
OP

22. Can  be direction cosines of a vector.

Watch Video Solution

( , , )
1

√3

1

√2

1

√2

https://dl.doubtnut.com/l/_GrHVcPe3y2Ep
https://dl.doubtnut.com/l/_L9SS1SW7Pkmo
https://dl.doubtnut.com/l/_VrwPlLMkpR5q


23. If P(2,3,-6) and Q(3,-4,-6) are two points in the space. Find the

direction cosines of  and , where Q is the origin.

Watch Video Solution

−−→
OP ,

−−→
QO

−−→
PQ

24. Find the direction cosines of a vector which makes equal

angles with the axes.

Watch Video Solution

25. If P(1,2,-3) and Q(4,3,5) are two points in space , find the

direction ratio of  and .

Watch Video Solution

−−→
OP ,

−−→
QO

−−→
PQ

https://dl.doubtnut.com/l/_yrNyHC76NmVy
https://dl.doubtnut.com/l/_AL0vKgSgj3w0
https://dl.doubtnut.com/l/_YW2CxlsBQGUs


26. Find the scalar triple product of vectors

 and .

Watch Video Solution

î + 2ĵ + 3k̂, − î − ĵ + k̂ î + ĵ + k̂

27. Show that the vectors  and 

are co-planar.

Watch Video Solution

4 î − ĵ + k̂, 3 î − 2ĵ − k̂ î + ĵ + 2k̂

28. Find lambda if the vectors  and 

 are co-planar.

Watch Video Solution

î + ĵ + 2k̂, λî − ĵ + k̂

3 î − 2ĵ − k̂

29. Find the unit vector in the direction of .\2 î + 3ĵ + k̂

https://dl.doubtnut.com/l/_goite1UHua4v
https://dl.doubtnut.com/l/_sFsG1aX2vZY3
https://dl.doubtnut.com/l/_F0QHsYZsgGI6
https://dl.doubtnut.com/l/_SBV6iME7Ekzu


Watch Video Solution

30. Let, veca = hati+2hatj vecb = 2hati+hatj |veca| = |vecb|

veca&vecb` equal?

View Text Solution

and . If

. Arethe
−−→
−−→ rs

31. Find the values of x & y so that vectors  and 

are equal.

Watch Video Solution

2 î + 3ĵ x î + Y ĵ

32. Find the scalar and dot product of vectors  and 

Watch Video Solution

î + 2ĵ − 3k̂

2 î − ĵ + k̂.

https://dl.doubtnut.com/l/_SBV6iME7Ekzu
https://dl.doubtnut.com/l/_51fm8dfP57t0
https://dl.doubtnut.com/l/_wQHKBylxLqvz
https://dl.doubtnut.com/l/_UwZpLS3ZE6De


33. Show that  is a unit vector.

Watch Video Solution

î − ĵ

√2

34. Find the direction ratios and direction cosines of the vector

.

Watch Video Solution

→
a = î + ĵ − 2k̂

35. Show that the vectors  are

collinear.

Watch Video Solution

2 î − ĵ + 4k̂ and − 4 î + 6ĵ − 8k̂

36. Find  if for a unit vector .∣
∣
→
x ∣

∣,
→
a , (

→
x −

→
a ). (

→
x +

→
a ) = 12

https://dl.doubtnut.com/l/_nmVzTHoMP9T8
https://dl.doubtnut.com/l/_rlWNMMbdgJuk
https://dl.doubtnut.com/l/_wc2QMJhvRP8O
https://dl.doubtnut.com/l/_f19Z2BsLomYb


Watch Video Solution

37. Find , if two vectors  and  are such that 

 and .

Watch Video Solution

∣
∣
∣
→
a −

→
b

∣
∣
∣

→
a

→
b

∣
∣
→
a ∣

∣ = 2,
∣
∣
∣

→
b

∣
∣
∣

= 3
→
a .

→
b = 4

38. If =  and  find 

and .

Watch Video Solution

→
a = î − 7ĵ + 7k̂

→
b = 3 î − 2ĵ + 2k̂

→
a ×

→
b

∣
∣
∣
→
a ×

→
b

∣
∣
∣

39. Evaluate 

Watch Video Solution

(3
→
a − 5

→
b ). (2

→
a + 7

→
b )

https://dl.doubtnut.com/l/_f19Z2BsLomYb
https://dl.doubtnut.com/l/_sayKRBeYOiE2
https://dl.doubtnut.com/l/_KyMFp0rfQF9M
https://dl.doubtnut.com/l/_pFYiopd4sXOj


40. Find  and  if .

Watch Video Solution

λ μ (2 î + 6ĵ + 27k̂) × ( î + λĵ + μk̂) =
→
0

41. Show that, .

Watch Video Solution

(
→
a −

→
b ) × (

→
a +

→
b ) = 2(

→
a ×

→
b )

42. Find the scalar triple product vectors 

and .

Watch Video Solution

î + 2ĵ + 3k̂, î − ĵ + k̂

î + ĵ + k̂

43. Find  if the vectors  and 

are coplanar.

h id l i

λ î + ĵ + 2k̂, λî − ĵ + k̂ 3 î − 2ĵ − k̂

https://dl.doubtnut.com/l/_fDih3rmimrxD
https://dl.doubtnut.com/l/_Y7KzVGBxtJAH
https://dl.doubtnut.com/l/_x5reZvp86SGZ
https://dl.doubtnut.com/l/_uzMD57uOiV0W


Watch Video Solution

44. Show that the points A(-2, 3, 5), B(1, 2, 3) and C(7, 0, -1) are

collinear

Watch Video Solution

45. Show that the points with position vectors

 and  are collinear

Watch Video Solution

î + 2ĵ + 7k̂, 2 î + 6ĵ + 3k̂ 3 î + 10ĵ − k̂

46. Find the angle between the vectors  and 

.

Watch Video Solution

î − 2ĵ + 3k̂

3 î − 2ĵ + k̂

https://dl.doubtnut.com/l/_uzMD57uOiV0W
https://dl.doubtnut.com/l/_d0o9wTFjaBFc
https://dl.doubtnut.com/l/_UjSaSSHXvqyC
https://dl.doubtnut.com/l/_EsFcmOtyR7fs
https://dl.doubtnut.com/l/_yzk7yrdtvI1S


47. Show that the vectors 

and  are mutually perpendicular.

Watch Video Solution

(2 î + 3ĵ + 6k̂), (3 î − 6ĵ + 2k̂)
1

7

1

7

(6 î + 2ĵ − 3k̂)
1

7

48. If  then show that the

vectors  are perpendicular

Watch Video Solution

→
a = 5 î − ĵ − 3k̂,

→
b = î + 3ĵ − 5k̂

→
a +

→
b &

→
a −

→
b

49. If  and 

such that  is perpendicular to  then find the value of .

Watch Video Solution

→
a = 2 î + 2ĵ + 3k̂,

→
b = − î + 2ĵ + k̂

→
c = 3 î + ĵ

→
a + λ

→
b

→
c λ

https://dl.doubtnut.com/l/_yzk7yrdtvI1S
https://dl.doubtnut.com/l/_XtaWDiN6HVRc
https://dl.doubtnut.com/l/_VxZ5euV8hOXT


50. Find x,y,z if ,  and  are

mutually orthogonal.

Watch Video Solution

î + ĵ + 2k̂ − î + zk̂ 2 î + xĵ + yk̂

51. Find a vector and unit vector perpendicular to each of the

vector  and  Where 

.

Watch Video Solution

→
a +

→
b

→
a −

→
b

→
a = 3 î + 2ĵ + 2k̂&

→
b = î + 2ĵ − 2k̂

52. Find a vector of magnitude 11 in the direction opposite to that

of , where P and Q are the points (1,3,2) and (-1,0,8),

respectively.

Watch Video Solution

−−→
PQ

https://dl.doubtnut.com/l/_A2DdYSt03tA8
https://dl.doubtnut.com/l/_WsGbgclU0yvF
https://dl.doubtnut.com/l/_fnXUICSP70yd


53. If the points (-1,-1,2) ,(2,m,5) and (3,11,6) are co-linear then find

the value of m.

Watch Video Solution

54. Calculate the work done if a sled is pulled forward 50m along a

frictionless surface by a force of 250N at an angle of  to the

horizontal.

Watch Video Solution

60∘

55. It takes 12000J of work to pull a sled 200m with a 120N force.

Determine the angle of the rope with the horizontal.

Watch Video Solution

https://dl.doubtnut.com/l/_rM830FJyLhtg
https://dl.doubtnut.com/l/_gQLjIcH814gi
https://dl.doubtnut.com/l/_7ntiHEzUob17


56. Calculate the work done by a force F =  when

its point of application moves from point  to

the point .

Watch Video Solution

−5 î + ĵ + 7k̂N

( − 2 î − 6ĵ + k̂)m

( î − ĵ + 10k̂)m

57. A bolt is tightened using a 20N force, applied at an angle of

 to the end of a wrench that is 30 cm long. Calculate the

magnitude of the moment or torque about its point of rotation.

View Text Solution

30∘

58. A bicycle pedal, 20 cm in length, has a 50N force applied to it at

an angle of . Determine the magnitude of the moment or

torque.

View Text Solution

45∘

https://dl.doubtnut.com/l/_F5lyB6XIhXGo
https://dl.doubtnut.com/l/_HtESIE87Ysgl
https://dl.doubtnut.com/l/_IaZlEC7KxC4I


59. Which of the following is a vector quantity ?

A. Mass

B. Force

C. Time

D. Temperature

Answer:

Watch Video Solution

60. You are given a displacement vector of 5 cm due east. Show by

a diagram the corresponding negative vector.

Watch Video Solution

https://dl.doubtnut.com/l/_IaZlEC7KxC4I
https://dl.doubtnut.com/l/_uofuREdQyypq
https://dl.doubtnut.com/l/_eJDdr5qh4Fir


61. Represent graphically a force 60N is a direction  west of

north.

Watch Video Solution

60∘

62. Represent graphically a force 100N is a direction  west of

north.

Watch Video Solution

45∘

63. The quantity which has only magnitude is called

A. A scalar quantity

B. A vector quantity

C. A chemical quantity

D. A magnitude quantity

https://dl.doubtnut.com/l/_Aqwit5L8rhr3
https://dl.doubtnut.com/l/_V0Yy8VnW5yCC
https://dl.doubtnut.com/l/_aw3VptmpCQvF


Answer:

Watch Video Solution

64. Force is a vector quantity. True or false ?

Watch Video Solution

65. What is the magnitude of a unit vector?

A. It has no magnitude

B. Zero vector

C. Constant but not zero

D. Unity

Answer:

https://dl.doubtnut.com/l/_aw3VptmpCQvF
https://dl.doubtnut.com/l/_EbSUKJ8GngVy
https://dl.doubtnut.com/l/_gWDMO1Wq0h8n


Watch Video Solution

66. Which have the following has zero magnitude?

A. Fixed vector

B. Zero vector

C. Modulus of a vector

D. Unit vector

Answer:

Watch Video Solution

67. Adding of two vectors to get a single vector is termed as

A. Final vector

https://dl.doubtnut.com/l/_gWDMO1Wq0h8n
https://dl.doubtnut.com/l/_rKkrGg6OjhOB
https://dl.doubtnut.com/l/_I9ZKLZm7Wl1V


B. Resultant vector

C. Dominant vector

D. Recessive vector

Answer:

Watch Video Solution

68. A vector which can be displaced parallel to itself and applied at

any point, is known as?

A. Free vector

B. Null vector

C. Position vector

D. Unit vector

Answer:

https://dl.doubtnut.com/l/_I9ZKLZm7Wl1V
https://dl.doubtnut.com/l/_gHvYLJFIjbWC


Watch Video Solution

69. Which of the following lists of physical quantities consists only

of Vector?

A. Time, temperature, velocity

B. Force, volume, momentum

C. Velocity, acceleration, mass

D. Force, accelration, velocity

Answer:

Watch Video Solution

70. If two vectors 2A and 3B which are in same direction are added

together then their resultant is given by ?

https://dl.doubtnut.com/l/_gHvYLJFIjbWC
https://dl.doubtnut.com/l/_tzMIMZOs1n2H
https://dl.doubtnut.com/l/_BMxTK7F1hdWT


A. 2A+3B

B. 3A+2B

C. 2A-3B

D. None of above

Answer:

Watch Video Solution

71. If two non-zero vectors are perpendicular to each other then

their Scalar product is equal to ?

A. 0

B. 1

C. 2

D. 3

https://dl.doubtnut.com/l/_BMxTK7F1hdWT
https://dl.doubtnut.com/l/_bAIl0L0iP4Jg


Answer:

Watch Video Solution

72. Two forces are acting together on an object. The magnitude of

their resultant is minimum when the angle between the forces is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

0∘

60∘

120∘

180∘

https://dl.doubtnut.com/l/_bAIl0L0iP4Jg
https://dl.doubtnut.com/l/_9CHuSdC4uHfJ


73. If the resultant of two forces each of magnitude F is 2F, then

the angle between them will be?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

0∘

60∘

120∘

180∘

74. The Scalar product of two vectors is  and the magnitude of

their vector product is 2. The angle between them is

A. 

2√3

30∘

https://dl.doubtnut.com/l/_TvampbtoLV0c
https://dl.doubtnut.com/l/_TYqTUKZL4omm


B. 

C. 

D. 

Answer:

Watch Video Solution

60∘

45∘

0∘

75. Which of the following vectors is/are perpendicular to the

vector ?

A. 

B. 

C. 

D. 

Answer:

4 î + 3ĵ

4 î + 3ĵ

8 î

7ĵ

3 î − 4ĵ

https://dl.doubtnut.com/l/_TYqTUKZL4omm
https://dl.doubtnut.com/l/_FFumQuiJG2Ge


Watch Video Solution

76. Represent graphically a displacement of 30km,  east of

north.

Watch Video Solution

60∘

77. Classify the following measures as scalars and vectors. 20 kg.

Watch Video Solution

78. Classify the following measures as scalars and vectors.5 meter

north-west

Watch Video Solution

https://dl.doubtnut.com/l/_FFumQuiJG2Ge
https://dl.doubtnut.com/l/_LoLcSpOxvjh5
https://dl.doubtnut.com/l/_i6ksZSYUnbRq
https://dl.doubtnut.com/l/_qkazCwnTiuEd
https://dl.doubtnut.com/l/_ziq4ig7vDWxK


79. Classify the following measures as scalars and vectors. 

Watch Video Solution

60∘

80. Classify the following measures as scalars and vectors. 10 watt

Watch Video Solution

81. Classify the following measures as scalars and vectors.

Watch Video Solution

10− 5coluomb

82. Classify the following measures as scalars and vectors. 

Watch Video Solution

30
m

s2

https://dl.doubtnut.com/l/_ziq4ig7vDWxK
https://dl.doubtnut.com/l/_xnr5rA7NBVpI
https://dl.doubtnut.com/l/_dYc4GOGaOSAz
https://dl.doubtnut.com/l/_Hcu52yLbVgtF
https://dl.doubtnut.com/l/_bVbquJHUjrjj


83. Classify the following as scalar and vector quantities. Time

period

Watch Video Solution

84. Classify the following as scalar and vector quantities. Distance

Watch Video Solution

85. Classify the following as scalar and vector quantities. Force

Watch Video Solution

86. Classify the following as scalar and vector quantities. Velocity

Watch Video Solution

https://dl.doubtnut.com/l/_bVbquJHUjrjj
https://dl.doubtnut.com/l/_E3EVDhWEb8Ze
https://dl.doubtnut.com/l/_0TSLthLr3YPE
https://dl.doubtnut.com/l/_nKRnh83YAtyT


87. Classify the following as scalar and vector quantities. Work

done

Watch Video Solution

88. Answer the following as true or false. 

Two collinear vectors are always equal in magnitude.

Watch Video Solution

89. Answer the following as true or false. 

Two vectors having same magnitude are always collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_AJo47T6hufDV
https://dl.doubtnut.com/l/_IyjIvlY4lpXk
https://dl.doubtnut.com/l/_dwTtZsx4FzT9


90. Answer the following as true or false. 

Two collinear vectors having the same magnitude are equal.

Watch Video Solution

91. Compute the magnitude of the following vectors: 

Watch Video Solution

→
a = î + ĵ + k̂,

→
b = 3 î + ĵ − 4k̂,

→
c = − î − ĵ + k̂.

1

√3

1

√3

1

√3

92. Write two different vectors having same magnitude.

Watch Video Solution

93. Write two different vectors having same direction.

h id l i

https://dl.doubtnut.com/l/_YxfKi2IlfDli
https://dl.doubtnut.com/l/_ppv3seyYzQxD
https://dl.doubtnut.com/l/_TDT5zKy0Jpm8
https://dl.doubtnut.com/l/_90sZdfuIQ3Ar


Watch Video Solution

94. Find the values of x,y and z so that the vectors 

and  are equal,

Watch Video Solution

3 î + ĵ + 4k̂

x î + yĵ + zk̂

95. Find the scalar and vector components of the vector with

initial point (3, 5) and terminal point (-2,3).

Watch Video Solution

96. Find the sum of the vectors  and 

.

Watch Video Solution

→
a = − 2 î + ĵ − 4k̂

→
b = 3 î − ĵ + 5k̂

https://dl.doubtnut.com/l/_90sZdfuIQ3Ar
https://dl.doubtnut.com/l/_6jaLTBFfB5NE
https://dl.doubtnut.com/l/_I6J6Vz0MX7PK
https://dl.doubtnut.com/l/_gM3XNIpHCzwA
https://dl.doubtnut.com/l/_W8R5otuvm3ud


97. Find the unit vector in the direction of the vector

Watch Video Solution

→
a = 2 î + 2√2ĵ − 3k̂.

98. Find the unit vector in the direction of vector PQ, where P and

Q are the points (1, 2, 3)and (4, 5, 6) respectively.

Watch Video Solution

99. For given vectors,  and ,

find the unit vector in the direction of the vector .

Watch Video Solution

→
a = î + 2ĵ + 3k̂

→
b = 2 î + 3ĵ + 5k̂

→
a +

→
b

https://dl.doubtnut.com/l/_W8R5otuvm3ud
https://dl.doubtnut.com/l/_sACSKaYnY47M
https://dl.doubtnut.com/l/_JFcFm7HSCnyW


100. Find a vector in the direction of vector  which has

magnitude 8 units.

Watch Video Solution

5 î − ĵ + 2k̂

101. Show that the vectors  and  are

collinear.

Watch Video Solution

2 î − 3ĵ + 4k̂ −4 î + 6ĵ − 8k̂

102. Find the direction cosines of the vector .

Watch Video Solution

î + 2ĵ + 3k̂

103. Find the direction cosines of the vector joining the points

A(1,2,-3) and B(-1, -2, I)directed from A to B.

https://dl.doubtnut.com/l/_8U0toF6pbNRn
https://dl.doubtnut.com/l/_s4Wr8BkTv9Qw
https://dl.doubtnut.com/l/_b7WzD3uNzTpp
https://dl.doubtnut.com/l/_i1VcxOjoVraO


Watch Video Solution

104. Find the position vector of a point R which-divides the line

joining two points P and Q whose position vectors are 

and  respectively, in the ratio 2:1 Internally

Watch Video Solution

î + 2ĵ − k̂

− î + ĵ + k̂

105. Find the position vector of a point R which-divides the line

joining two points P and Q whose position vectors are 

and  respectively, in the ratio 2:1 externally

View Text Solution

î + 2ĵ − k̂

− î + ĵ + k̂

106. Find the position vector of the mid point of the vector joining

the points P(2,4, -1) and Q(4, 2, 5).

https://dl.doubtnut.com/l/_i1VcxOjoVraO
https://dl.doubtnut.com/l/_wFQJr7BU9c78
https://dl.doubtnut.com/l/_ADero43AgGP8
https://dl.doubtnut.com/l/_WRo7B8QYuBMs


Watch Video Solution

107. Show that the points A, B and C with position vectors

 and 

respectively form the vertices of a right angled triangle.

Watch Video Solution

→
a = 3 î − 4ĵ − 4k̂,

→
b = 2 î − ĵ + k̂

→
c = î − 3ĵ − 5k̂

108. If  and , show that 

 is parallel to .

Watch Video Solution

→
a ×

→
b =

→
c ×

→
d

→
a ×

→
c =

→
b ×

→
d

(
→
a −

→
d ) (

→
b −

→
c )

109. Find the area of the parallelogram whose adjacent sides are

represented by the vectors  and .

Watch Video Solution

î + 2ĵ + 3k̂ 3 î − 2ĵ + k̂

https://dl.doubtnut.com/l/_WRo7B8QYuBMs
https://dl.doubtnut.com/l/_qDEhTHDiVkvw
https://dl.doubtnut.com/l/_1NnJcqHf1Itt
https://dl.doubtnut.com/l/_lPpYYxrg7FbO


Watch Video Solution

110. Find the area of the  where co ordinates of A,B,C are

(3, -1, 2),(1, -1, -3) and (4, -3, 1) respectively.

View Text Solution

△ ABC

111. If  and  then find 

.

View Text Solution

→
A = î + 2ĵ + 3k̂

→
B = î + 4ĵ − 2k̂

(
→
A +

→
B) × (

→
A −

→
B)

112. Find a unit vector perpendicular to each of the vectors

 and .

View Text Solution

2 î − 3ĵ + k̂ 3 î − 4ĵ − k̂

https://dl.doubtnut.com/l/_lPpYYxrg7FbO
https://dl.doubtnut.com/l/_lrUSaLt1ZcJr
https://dl.doubtnut.com/l/_4pBTtfeWCLr8
https://dl.doubtnut.com/l/_VB7Zri1Yfc1X



